H & 0l & AHS B Ml A

20233 =0lat S22 0II=SESH M

SM: FOIMET A
M J|=MEEH(MESX/ I ZNEEE)
cel: o220 X (ABS0II2SE5H) (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Sl R t 3,061,483 2,948,370 113,113
= 253,718
== 63,429
Al 2,744,336
INEZMEEH(AMSSX /IS EH) 2,863,1% 2,774,370 88,826
= 253,718
< 63,429
Al 2,546,049
ARSH NE(ASSHIISSEEIH) 2,863,1% 2,774,370 88,826
= 253,718
== 63,429
Al 2,546,049
QIS HBAEZ(AIZ A=SS0 AGHl EX) 297,815 365,852 A\58,037
= 238,252
= 59,563
307 lztol & 297,815 365,852 58,037
= 238,252
== 59,563
01 22X+ &H| 297,815 365,852 A\58,037
O&s=0tl 297,815,000& 297,815
= 238,252
< 59,563
SIZSHAXHHBLMEZ(QSS0 #E2ZF AHHI) 19,332 18,000 1,332
= 15,466
= 3,866
201 2= 10,000 10,000 0
= 8,000
=S 2,000
01 At2teltl 10,000 10,000 0
O2=2s0 &L 10,000,000& 10,000
= 8,000
< 2,000
202 048l 9,332 8,000 1,332
= 7,466
= 1,866
01 2K 9,332 8,000 1,332
02250 HEH| 9,332,000& 9,332
= 7,466
= 1,866
ASSHMRHHMBYEER (RS0 J=2H| X&) 2,546,049 2,328,715 217,334
308 AHXIEMSOIE 2,546,049 2,328,715 217,334
07 MXISHHARY = 2,546,049 2,328,715 217,334




A FRIMETIR
B | EMBLT (A =R/ EMEDE)
o9l 02301 XRA(ABS0I2S (crol: m2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Oc|gEsXiEH| AlBIRE=2
2,546,049,000& 2,546,049
HRES(FOMEX2W) (M= TMEP A 198,287 174,000 24,287
BENE(AZ20HII2SL3A) 198,287 174,000 24,287
=FSONES 198,287 174,000 24,287
802 Bret32 (et 198,287 174,000 24,287
01 2NEXxZLHEZ2 98,404 69,336 29,068
O=1NEX=z ttezg 98,404,000 98,404
2 Al - SHIEZ3EES 24,602 17,336 7,266
OTHIEZX= Btetad 24,602,000 24,602
03 J|EtEtEE S 75,281 87,328 AN12,047
OO0kt Bt 2,036,000& 2,036
ORY0IS3 &=+ et 72,000,000& 72,000
OF AR ZH| Bt S 1,245,000 1,245




